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Solved Examples

1. Find the distance between the given points.

(i) P(10,-8), Q(-3,-2)

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_b68SzDqE1MmM

2. Show that the points
(3, —2),(1,0),(—1, —2)and (1, — 4) are

concyclic.

o Watch Video Solution

3. Find the value of k for which points

P(k, —1),Q(2,1)and R(4, 5)are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_b68SzDqE1MmM
https://dl.doubtnut.com/l/_pS8kxEgjPKig
https://dl.doubtnut.com/l/_4xgfSHGQP1YH
https://dl.doubtnut.com/l/_cj8OK49AaZX7

4. Show that points A(1,-5),B(-4,-8),C(-1,-13) and

D(4,-10) are the vertices of a rhombus.

o Watch Video Solution

5. Find the coordinates of the point on Y-axis
which is equidistant from the points M(6,5)

and point N(-4,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_cj8OK49AaZX7
https://dl.doubtnut.com/l/_G9CqvT8oj3b8

6. A(—3, —4),B(—5,0),C(3,0) are the
vertices of AABC . Find the co-ordinates of

the circumcenter of AABC.

o Watch Video Solution

7. Show that the points (5,11) is equidistant

from the points (-5,13) and (3,1)

° Watch Video Solution



https://dl.doubtnut.com/l/_B1UGhO9Uj95m
https://dl.doubtnut.com/l/_xkEdikTAGdhf

8. If P (5-3) and Q(3,y) are the points of
trisection of the line segment joining the

points A (7,-2) and B (1,-5) . then y equals?

o Watch Video Solution

9.If A-P-Q-B, point P and Q trisects seg AB and
A(3,1) , Q(-1,3), then find coordinates of points B

and P.

o Watch Video Solution



https://dl.doubtnut.com/l/_5g2z7wCycXDE
https://dl.doubtnut.com/l/_liwD8TPFx1MI
https://dl.doubtnut.com/l/_DqyZtXLk75SQ

10. Find the co-ordinates of points of
trisection of the line segment AB with A(2,7)

and B(-4,-8).

o Watch Video Solution

11. Find the co-ordinates of point P if P divides
the line segment joining the points A(-1,7) and

B(4,-3) in the ratio 2:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_DqyZtXLk75SQ
https://dl.doubtnut.com/l/_ElNYA0YGHreE
https://dl.doubtnut.com/l/_CcafGpodA6PK

12. Find the co-ordinates of point P if P divides
the line segment joining the points A(-1,7) and

B(4,-3) in the ratio 2:3.

o Watch Video Solution

13. If P-T-Q and P(-3,10), Q(6,-8) and T(-1,6), then

find the ratio in which point T divides seg PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_CcafGpodA6PK
https://dl.doubtnut.com/l/_Wf7eXZsi7mWq

14. Find the coordinates of the midpoint of the

segment joining the points (22,20) and (0,16).

° Watch Video Solution

15. Find the slope of the line passing through

the points.(i) (-1,4), (3,7)

o Watch Video Solution



https://dl.doubtnut.com/l/_KYrTzeybBhiX
https://dl.doubtnut.com/l/_I2ChrBje718P

16. The equation of the line joining the points

(-2,4,2) and (7,-2,5) is

° Watch Video Solution

17. Show that A(4,-1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

o Watch Video Solution

Practice Set 5 1


https://dl.doubtnut.com/l/_o3fKcIMOOjlu
https://dl.doubtnut.com/l/_lz6O3Rps948B
https://dl.doubtnut.com/l/_cAH98QdfEAIo

1. Find the distance between each of the

following pairs of the points: A(2,3), B(4,1)

o Watch Video Solution

2. Find the distance between each of the

following pairs of the points:(ii) P(-5,7), Q(-1,3)

° Watch Video Solution



https://dl.doubtnut.com/l/_cAH98QdfEAIo
https://dl.doubtnut.com/l/_cwGnfTwFqnwZ

3. Find the distance between each of the

following pairs of the points.(iii)R(0,-3), S(0,5/2)

° Watch Video Solution

4. Find the distance between each of the

following pairs of the points. (iv) L(5,-8), M(-7,-3)

o Watch Video Solution



https://dl.doubtnut.com/l/_MxDcFuOmzadk
https://dl.doubtnut.com/l/_COHZXtLiPgC5

5. Find the distance between each of the

following pairs of the points.(v) T(-3,6), R(9,-10)

° Watch Video Solution

6. Find the distance between each of the
following pairs of the points.(vi) W(7/2,4),

X(11,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_m0uyaSJPVfkD
https://dl.doubtnut.com/l/_BYCDaS81qU5n

7. Determine whether the points are collinear.

()A(1,-3), B(2,-5) and C(-4,7)

o Watch Video Solution

8. Determine whether the points are collinear.

(i) L(-2,3),M(1,-3),N(5,4)

o Watch Video Solution



https://dl.doubtnut.com/l/_xNGySRVxKA1K
https://dl.doubtnut.com/l/_YfvMhhbbupx4

9. Determine whether the points are collinear.

(iii) R(0,3),D(2,1) and S(3,-1)

o Watch Video Solution

10. Determine whether the points are collinear.

(iv) P(-2,3),0(1,2),R(4,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_XV0AEQLVIld1
https://dl.doubtnut.com/l/_hwENUloh3Jr2

11. Find the point on X-axis which is equidisant

from A(-3,4) and B(1,-4)

° Watch Video Solution

12. Verify that points P(-2,2),Q(2,2) and R(2,7)

are vertices of a right angled triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_Kp7decsknfCn
https://dl.doubtnut.com/l/_2miV6bzFiX9b

13. Show that points P(2,-2), Q(7,3), R(11,-1) and

S(6,-6) are the vertices of a parallelogram.

° Watch Video Solution

14. A(-4,7),B(-1,2),C(8,5) and D(5,-4) are the

vertices of rhombus ABCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_wpw3a6HJxEjM
https://dl.doubtnut.com/l/_b734mxg1Fi5d

15. Find x,if distance between points L(x,7) and

M(1,15) is 10.

o Watch Video Solution

16. Show that the points A(1,2), B(1,6) and C(1+
2./34) are the vertices of an equilateral

triangle.

o Watch Video Solution

Practice Set 5 2


https://dl.doubtnut.com/l/_uP9ENXae7fLE
https://dl.doubtnut.com/l/_N62k9Qf7zxys

1. Find the co-ordinates of point P if P divides
the line segment joining the points A(-1,7) and

B(4,-3) in the ratio 2:3.

o Watch Video Solution

2. In each of the following examples find the
co-ordinates of point A which divides segment

PQ in the ratio a:b.(i) P(-3,7), Q(1,-4), a:b=2:1.

o Watch Video Solution



https://dl.doubtnut.com/l/_HSWnGIFU8Q21
https://dl.doubtnut.com/l/_hUO5fqfsTPSv

3. In each of the following examples find the
co-ordinates of point A which divides segment

PQ in the ratio a:b.(ii)P(-2,-5), Q(4,3), a:b=3:4.

o Watch Video Solution

4. In each of the following examples find the
co-ordinates of point A which divides segment

PQ in the ratio a:b.(iii)P(2,6), Q(-4,1), a:b=1:2.

o Watch Video Solution



https://dl.doubtnut.com/l/_sdr0hwwom1YA
https://dl.doubtnut.com/l/_iBc9LUFkkLaq
https://dl.doubtnut.com/l/_XcEY6GIbqnoX

5. Find the ratio in which point T(-1,6) divides
the line segment joining the points P(-3,10)

and Q(6,-8).

o Watch Video Solution

6. Point P is the centre of the circle and AB is a
diameter.Find the co-ordinates of point B if co-
ordinates of point A and P are (2,-3) and (-2,0)

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_XcEY6GIbqnoX
https://dl.doubtnut.com/l/_vNN3h4Kc0FAE

7. Find the ratio in which point P(k,7) divides
the segment joining A(8,9) and B(1,2). Also find

k.

o Watch Video Solution

8. Find the coordinates of the midpoint of the

segment joining the points (22,20) and (0,16).

° Watch Video Solution



https://dl.doubtnut.com/l/_RuoRtMEl4Ofb
https://dl.doubtnut.com/l/_zMhQkjpLKWZN

9. Find the co-ordinates of the circumcenter of

the triangle whose vertices are

A(—2,3), B(6, —1),C(4, 3)

o Watch Video Solution

10. Find the coordinates of centroid of a

triangle whose vertices are (3, -5), (4,3), (11-4),

° Watch Video Solution



https://dl.doubtnut.com/l/_rfGU2lmfZhee
https://dl.doubtnut.com/l/_0KRiMvRuFIJr

11. Find the coordinates of centroid of a

triangle whose vertices are (3, -5), (4,3), (11-4),

° Watch Video Solution

12. In A ABC,G(-4,7) is the centroid of
AN\ ABCIf A(-14,-19) and B(3,5),then find co-

ordinates of C.

° Watch Video Solution



https://dl.doubtnut.com/l/_DZ4HCVOsEuVd
https://dl.doubtnut.com/l/_Kq1XBbOEha0A

13. A(h,6),B(2,3) and C(-6k) are the co-
ordinates of vertices of a triangle whose

centroid is G(1,5). Find h and k.

o Watch Video Solution

14. Find the co-ordinates of points of
trisection of the line segment AB with A(2,7)

and B(-4,-8).

o Watch Video Solution



https://dl.doubtnut.com/l/_y9y1WmDDtcdN
https://dl.doubtnut.com/l/_wtGyIJZBHl79
https://dl.doubtnut.com/l/_cyJpXXr10MfW

15. If A(-14,-10),B(6,-2) is given,find the co-
ordinates of the points which divide segment

AB into four equal parts.

o Watch Video Solution

16. If A(-14,-10),B(6,-2) is given,find the co-
ordinates of the points which divide segment

AB into four equal parts.

o Watch Video Solution



https://dl.doubtnut.com/l/_cyJpXXr10MfW
https://dl.doubtnut.com/l/_Xv51duTQJHQu

Practice Set 5 3

1. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines (i)45°

° Watch Video Solution

2. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines (i)45°

I ° Watch Video Solution


https://dl.doubtnut.com/l/_OYOym6XwHZwR
https://dl.doubtnut.com/l/_ZFotX6QXnArp

3. Angles made by the line with the positive
direction of X-axis are given. Find the slope of

these lines(iii) 90°

o Watch Video Solution

4. Find the slope of line passing through the

given points. (i) A(2,3) and B(4,7)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZFotX6QXnArp
https://dl.doubtnut.com/l/_zmAfkKmVJovR
https://dl.doubtnut.com/l/_EuH8CGNgWlcw
https://dl.doubtnut.com/l/_4fGrMADaPVw4

5. Find the slope of line passing through the

given points. (ii) P(-3,1) and Q(5,-2)

o Watch Video Solution

6. Find the slope of line passing through the

given points.(iii) C(5,-2) and D(7,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_4fGrMADaPVw4
https://dl.doubtnut.com/l/_DdtiPjJuo722

7. Find the slope of line passing through the

given points.(iv) L(-2,-3) and M(-6,-8).

° Watch Video Solution

8. Find the slope of line passing through the

given points.(v) E(-4,-2) and F(6,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_1s1DygMTRlax
https://dl.doubtnut.com/l/_LLI3mz7ogcAX

9. Find the slope of line passing through the

given points.(vi) T(0,-3) and S(0,4).

° Watch Video Solution

10. Determine whether following points are

collinear.(i) A(-1,-1),B(0,1),C(1,3)

o Watch Video Solution



https://dl.doubtnut.com/l/_Q0Jfs9Qz0Gqg
https://dl.doubtnut.com/l/_jOlud664VbYd

11. Determine whether following points are

collinear.(ii) D(-2,-3),E(1,0),F(2,1)

° Watch Video Solution

12. Determine whether following points are

collinear.(iii) L(2,5),M(3,3),N(5,1)

o Watch Video Solution



https://dl.doubtnut.com/l/_cBFa9zc9nGAO
https://dl.doubtnut.com/l/_35Mfap7GGsWU

13. Determine whether following points are

collinear.(iv) P(2,-5),0(1,-3),R(-2,3)

° Watch Video Solution

14. Determine whether following points are

collinear.(v) R(1,-4),5(-2,2),T(-3,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_lhUF2nuonwdR
https://dl.doubtnut.com/l/_DJSID0uUESfY

15. Determine whether following points are

collinear.(vi) A(-4,4),K(-2,5/2),N(4,-2).

° Watch Video Solution

16. If A(1,-1), B(0,4), C(-5,3) are vertices of a

triangle, then find the slope of each side.

o Watch Video Solution



https://dl.doubtnut.com/l/_yRNZcLplt7a4
https://dl.doubtnut.com/l/_srwB1f1LOMbh

17. Show that A(-4,7), B(-1,2), C(8,5) and D(5,-4)

are the vertices of a parallelogram.

o Watch Video Solution

18. Find k, if R(1,-1),5(-2,k) and slope of line RS is

-2.

o Watch Video Solution



https://dl.doubtnut.com/l/_OWIBPoJEQlmh
https://dl.doubtnut.com/l/_m2Iyp4j83kyi

19. Find k, if B(k,-5),C(1,2) and slope of the line is

/.

o Watch Video Solution

20. Find k, if PQ | | RS and P(2,4), Q(3,6),

R(3,1) and S(5,k).

o Watch Video Solution

Problem Set 5 Fill In The Blanks



https://dl.doubtnut.com/l/_ojBiGVmuWaDe
https://dl.doubtnut.com/l/_KSC8fvvmSueU
https://dl.doubtnut.com/l/_VNvizTdPbcRJ

1. Seg AB is parallel to Y-axis and co-ordinates

of point A are (1,3), then co-ordinates of point

B can be.......... a) (3,1) b) (5,3) c) (3,0) d) (1,-3)

A. (3,1)

B. (5,3)

C. (3,0)

D. (1,-3)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VNvizTdPbcRJ

2. Out of the following, point....... lies to the

right of the origin on X-axis. a) (-2,0) b) (0,2) ¢)

(2,3) d) (2,0)

A. (-2,0)

B. (0,2)

C.(2,3)

D. (2,0)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SBep1XED2M97

3. Distance of point (-3,4) from the origin

J3— a)7b)1c)5d)-5

A7

B.1

C.5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fC2DjetGxdBf
https://dl.doubtnut.com/l/_DYKrnJ7CWoDw

4. A line makes an angle of 30° with the

positive direction of X-axis.so the slope of the

1 3 1 _
line is..... a)—b)\/_c) d) /3
22

Al
)
V3
8.5~
C 1
D./3
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DYKrnJ7CWoDw

Problem Set 5

1. Determine whether the given points are

collinear.(i) A(0,2),B(1,-0.5),C(2,-3)

o Watch Video Solution

2. Determine whether the given points are

collinear.(ii) P(1,2),0(2,8/5),R(3,6/5).

° Watch Video Solution



https://dl.doubtnut.com/l/_zdOtuWarpJqK
https://dl.doubtnut.com/l/_XgO17uB8FzwR
https://dl.doubtnut.com/l/_jTOtseuwuZ0N

3. Determine whether the given points are

collinear.(iii) L(1,2),M(5,3),N(8,6).

o Watch Video Solution

4. Find the coordinates of the midpoint of the

line segment joining P(0,6) and Q(12,20).

o Watch Video Solution

5. Find the ratio in which the line segment

joining the points A(3,8) and B(-9,3) is divided


https://dl.doubtnut.com/l/_jTOtseuwuZ0N
https://dl.doubtnut.com/l/_a6EkTzMXtzOY
https://dl.doubtnut.com/l/_xnkciDioduqX

by the Y-axis.

o Watch Video Solution

6. Find a point on X-axis which is equidisant

from P(2,-5) and Q(-2,9).

° Watch Video Solution

7. Find the distance between the following

pairs of points (i)A(a,0),B(0,a).

o Watch Video Solution



https://dl.doubtnut.com/l/_xnkciDioduqX
https://dl.doubtnut.com/l/_jGzt3BjfkYLV
https://dl.doubtnut.com/l/_ooL1xAKKkJaQ

8. Find the distance between the following

pairs of points (ii)P(-6,-3),0(-1,9)

° Watch Video Solution

9. Find the distance between the following

pairs of points (iii)R(-3a,a),S(a,-2a)

o Watch Video Solution



https://dl.doubtnut.com/l/_ooL1xAKKkJaQ
https://dl.doubtnut.com/l/_6GtNivwDSIFJ
https://dl.doubtnut.com/l/_BfQTo06VYT64

10. Find the coordinates of circumcentre of a

triangle whose vertices are (-3,1),(0,-2) and (1,3).

° Watch Video Solution

11. In the following example, can the segment

joining the given points form a triangle? If


https://dl.doubtnut.com/l/_z672GQwuic0Q
https://dl.doubtnut.com/l/_otcBnb1fxzPj

triangle is formed, state the type of the
triangle considering sides of the triangle.

L(6,4),M(-5,-3),N(-6,8).

° Watch Video Solution

12. In the following examples,can the segment
joining the given points form a triangle?If
triangle is formed,state the type of the
triangle considering sides of the triangle.

(11)P(-2,-6),Q(-4,-2),R(-5,0).

° Watch Video Solution



https://dl.doubtnut.com/l/_otcBnb1fxzPj
https://dl.doubtnut.com/l/_YrEzeqfQwaXK

13. In the following example, can the segment
joining the given points form a triangle? If
triangle is formed, state the type of the
triangle considering sides of the triangle.

L(6,4),M(-5,-3),N(-6,8).

° Watch Video Solution

14. Find k, if the line passing through points

1
P(-12,-3) and Q(4,k) has slope 2

l ° Watch Video Solution


https://dl.doubtnut.com/l/_YrEzeqfQwaXK
https://dl.doubtnut.com/l/_PMboliLHPdjD
https://dl.doubtnut.com/l/_JiLR2mo9W4Uf

15. Show that the line joining the points A(4,8)
and B(5,5) is parallel to the line joining the

points C(2,4) and D(1,7).

° Watch Video Solution

16. Show that the points P(1,-2), Q(5,2), R(3,-1),

S(-1,-5) are the vertices of a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_JiLR2mo9W4Uf
https://dl.doubtnut.com/l/_CVNQkbaZL5tn
https://dl.doubtnut.com/l/_lOWQ7OzcdP2N
https://dl.doubtnut.com/l/_5P51ril2osPH

17. Show that the [ PQRS formed by

P(2,1),0(-1,3),R(-5,-3),5(-2,-5) is a rectangle.

° Watch Video Solution

18. Find the equations of the sides of a

triangle whose vertices are

A(—-1,8),B(4, —2)and C( — 5, — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_5P51ril2osPH
https://dl.doubtnut.com/l/_3MF3Z4NWCswA

19. Find the coordinates of centroid of a

triangle whose vertices are (3, -5), (4,3), (11-4),

o Watch Video Solution

20. Show that A(4,1), B(6,0), C(7,-2) and D(5,-3)

are vertices of a square.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZaY3XynDiHnj
https://dl.doubtnut.com/l/_N2hUCBoUz644

21. Find the co-ordinates of circumcentre and

radius of a circumcircle of A ABC,f

A(7,1),B(3,5) and C(2,0) are given.

_ AG,Y

P
(h, k)

B C
(3, 5) /q:, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_NGpQpK3R4Gul

22. Given A(4,-3), B(8,5). Find the co-ordinates
of the point that divides segment AB in the

ratio 3:1.

o Watch Video Solution

23. Find the area of quadrilateral whose

vertices are:

A(-3,1),B(—-2, —2),D(1,4),C(3, — 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_BOnpTFrVPKZ4
https://dl.doubtnut.com/l/_AGrxmLBKmRqZ
https://dl.doubtnut.com/l/_kMgFygoWUw4R

24. The line segment AB is divided into five
congruent parts at P ,Q ,R and S such that A-P-
Q-R-S-B . If point Q (12,14) and S(4,18) are given ,

find the co-ordinates of A,P,R,B.

o Watch Video Solution

25. Find the co-ordinates of the center of the

circle passing through the point. P(6,-6),0(3,7)


https://dl.doubtnut.com/l/_kMgFygoWUw4R
https://dl.doubtnut.com/l/_WCBMOpZ7Fcsw

and R(3,3).

° Watch Video Solution

26. Find the possible pairs of co-ordinates of

the fourth vertex D of the parallelogram if


https://dl.doubtnut.com/l/_WCBMOpZ7Fcsw
https://dl.doubtnut.com/l/_luDnXu80UPSi

three of its verices are A (5,6) , B (1,-2) and C

(3,-2) .

° Watch Video Solution

27. Find the slope of the diagonals of a
quadrilateral with vertices A(1,7), B(6,3), C(0,-3)

and D(-3,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_luDnXu80UPSi
https://dl.doubtnut.com/l/_Sdfiw49KXn3Q

